ser (3

JET INDUSTRIAL WINCHES PRODUCT # 113261

REF PART

1 PFS-IWF100101
2 PFS-IWF100102
3 PFS-IWF100103
4 PFS-IWF100104
5 PFS-IWF100105
6 PFS-IWF100106
7 PFS-IWF100107
8 PFS-TS1490031
9 PFS-155108

10 PFS-1540061
11 PFS-IWF100135
12  PFS-IWF100136
13 PFS-IWF100118
14  PFS-IWF100119
15 PFS-IWF100120

DESCRIPTION

RETAINER BOLT M8X25

CASING A ASSY
CASING B ASSY
BUSHING (2)
DRUM ASSY

THRUST WASHER (2)

CLAMP (2)

HEX CAP BOLT M8X20 (2)
LOCK WASHER M8 (2)

HEX NUT M8 (2)

IDENTIFICATION PLATE
ROTATION INDICATOR

BRAKE PAWL
WASHER (2)
SPRING PIN 4X25

REQ REF PART

1 16 PFS-IWF100122
1 17 PFS-IWF100123
1 18 PFS-IWF100124
2 19 PFS-IWF100125
1 20 PFS-IWF100126
2 21 PFS-IWF100127
2 22 PFS-IWF100128
2 23  PFS-IWF100129
2 24  PFS-IWF100130
2 25 PFS-IWF100131
1 26 PFS-IWF100132
1 27 PFS-IWF100133
1 28 PFS-IWF100134
2 29 PFS-IWF100137
1 30 PFS-IWF100138

DESCRIPTION
DISC HUB (2)
BRAKE DISC (2)

REQ

RATCHET DISC ASSY

RATCHET

RATCHET STOPPER

CLAMP
BALL PLUNGER

BRAKE COVER ASSY
P/HD/SCR W/WAS(M4X10)(8)

BRAKE COVER LID

HANDLE RETAINER BOLT

BOLT M6X18 (2)
HANDLE ASSY

WINDING INDICATOR

FREEWHEELING LABEL

PRPRRPNRPRRORRPREPRERRRLNON

WWW.Jetequipment.com

—






